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Vi A v V |mA| mA v | mA | °C
AC 50 Val 1 /1406 350 3| 300 —50 1.4 |
GDT 4 Cos 5 | 41,5 500 20 ‘
GDT 48 Cos 5 | 41,75 350 100 ‘
GDT 4C Cos 5 | 41,75 350 200 “
GT1C MOG 2 | 41,35 500 300 | 1000 1 ‘
G3Ss28B STCS 2 14|13 650 100 | 500 —10 | ‘
G4S58B STCS | 11 [ 4113 650 100 | 700 —6 |
HEJAC 1 Maz 2 1 4(1,2| 1000 150 i
ME 1502 Mul 2 | 4/145 650 | 1300 |300| 2000 —125 20 ;| —75--+90
MRJAC 1 Maz 2 | 41,2 1000 150 | ‘
$1/02i llA4 RET 2 i ‘
$1/02 i IIB4 RET 3t1 42 1000 | 1000 | 70| 200 —80 10 | —-35++60
$1/02 i 11C4 RET | 4 | |
S5/1i RET 6 | 4|38| 5000 | 5000 [350|1000| —320 ' 60 | +15++35
Tr-212 CCCP| 10 | 4|23 300 |125| 500 i | —20++50
T 11 Maz 7 14|12 700 500 :
T 31 Maz 7
) 500
T 41 Maz 8} 415 400
4686 Phl 1 | 4112 300 3 300 ‘
4690 Phl 9 | 41,2 500 10| 750
Equivalents
AN1 Mul = ME1502
PT 4 CCCP = TIr-212
S1]02 i llA AEG = S1/02illA4
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